CEB11

DESCRIPTIVE TYPE QUESTIONS
SUBJ ECT : MATHEMATICS
Full Marks : 20
(Each question carries two marks.)

(English Version)

1. Theharmonic mean of two numbers is 4. Their arithmetic mean A and the geometric mean G satisfy °
the relation 2A + G®=27. Find the numbers.

2. Ifthe area of a rectangle is 64 sq, unit, find the minimum value possible for its perimeter.
3. Find the image of the point (- 8, 12) with respect to the line 4x + Ty + 13 =0

4. How many triangles can be formed by joining 6 points lying on a circle ?

5. Ifr2=x%+y?+22 then prove that
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6. Determine the sum of imaginary roots of the equation
(22 +x+1) @x2+2x-3)=6

7. Ifcos A+ cosB+cosC=0, prove that
cos 3A+cos 3B+ cos3C=12cosAcosBcosC.

8. LetRbe the set.of real nymbers and f: R — R be'such that for allx, y eIR,
| i) — fiy)| £ |x - vi°. Prove that f is a constant function.

9. _Find the general solution of
(x+logy)dy+ydx=0
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(Bengali Version)
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